
Test 2 

 

1) 4² = ___________ 

___________ =  49 

 

 

2) Round 324.67 to the nearest whole number 

 

 

 

3) 34,763 + 2,345 =  

 

 

 

 

 

4) Write 67% as a decimal 

 

 

 

 

 

5) 45,632 – 2,113 =  

 

 

 

 

 

 

 

 

 

 

 



6) Write all the factor pairs for 24 

 

and  

 

 and  

 

 and  

 

 and  

 

 

 

7) 3744 ÷ 6 =  

 

 

 

 

8) Circle three numbers that are greater than 23.712 

 

23.8           23.70            23.802           23.71           23.715 

 

9) Write                   as a Mixed Number fraction 

 

 

 

10) Multiply  12 x 14  

 

 

 

 

17 

3 

  

  

  

  

 

 

 


